slide 1
One more thing before | let you go, today’s short assignment is-
.slide 2

Implementing the first step of the MCTS algorithm — the selection step. This step deals with selecting a
node from the tree from which the following steps are performed. So, try imagining that you already
have a part of the tree built, then think about how it should be traversed during this step. Which nodes
should the method select? When should it finish?

Then, once you have an idea, write your implementation, make sure it compiles and send it to me. The
deadline is the evening before the next lecture.

And that’s all for today. See you next week!



